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ROUND2-GT1

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |RER R PN T 17.50 7.68 25. 18
2 |RER BiAy PN T 16.80 17.20 24. 00
3| I =95 v 15.68 6.78 22. 46
4 |FTH RX L5 <Y LT a—A 15.68 6.60 22. 28
5 [liE HEKRER IR — T 14.00 5.94 19. 94
6 |aJE D) T Ay 13.86 6.00 19. 86
7@ &R S HY NI UTay 13.72 5.82 19. 54
8 [W&A BEIK [ T 13.30 5.58 18. 88
ROUND2-G2
NEAZ £ Hi Fr_ & ¥4 TEC  ATH Total
1 | By 4 15 H TE 17.36 7.50 24. 86
2 i KE S TE 16.10 6.90 23. 00
3 |RT (& O R A 16.10 6.90 23. 00
4 [k ZEL == R 15.54  6.54 22. 08
5O|=E RA S HR TE 15.40 6.60 22. 00
6 |=FF BEK GRS T 14.00 6.00 20. 00
(VY = 12 =—/3A K 13.58 5.76 19. 34
8 |fEfE #K [iE 52 TE 11.20 4.80 16. 00
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ROUND2-G3

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 Pk&E HER Bl TN T T 16.66 7.20 23. 86
2 (= A ) Tt 16.52  7.02 23. 54
3 |EfE ™K S HY TE 15.54  6.60 22. 14
4 T =R (g =S 15.26 6.48 21. 74
5 [ HE JHL T 14.14 6.06 20. 20
6 |HEM HHE B AT ay 13.72 5.82 19. 54
T O|ZiE i S = 13.58 5.70 19. 28
8 | 42K BT TE 12.32 5.34 17. 66
ROUND2-G4
NEAZ £ Hi Fr_ & ¥4 TEC  ATH Total
1 &R R 15 H TE 17.22  7.44 24. 66
2 |t EE i3 TE 15.96 17.02 22. 98
3 |HmRE FEh Elel 7 TE 15.82  6.54 22. 36
4 R et ES T E 14.84 6.30 21. 14
5 [FRf BT SEfif] o T 14.56  6.06 20. 62
6 | A fis = =R 14.28 6.24 20. 52
7 |k G ZEEL =—/3A K 13.72  5.94 19. 66
8 [WbJF  5hik R T 13.58 5.76 19. 34




